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Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.
(i)  FAP F97 & G 9T %1 FHEGR 0 GT 5T FHord |

Solve all parts of a question consecutively together.
(iii) ¥ X7 F) 79 95 G IRE] FHord |

Start each question on fresh page.
(iv) EH1 HT9137 7 3= 817 1 1T 7 330 srgame & ar= 8 |

Only English version is valid in case of difference in both the languages.

. () SRIgFfrd THRFEAE ?
State the types of data structures.

(i) RFRTE?
What is stack ?

(iii) L 9¢ T Foramd <Y < weRdt & 7

What operations can be performed on queues ?

(iv) St fand e

What is binary tree ?

(v) RF i s@ e adt 75 7
Which sorting algorithm is considered the fastest ? Why ? (4x5)

2. () THHEARRd = Ed R ¢ fafim ordds AR w wwere |

What is time complexity ? Explain different asymptotic notations.

(i) W, forae fore @ om0 R 7 wwe=d |
How is an array different from linked list ? Explain. (12%4+12%)

(10f2) P.T.O.
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3. ()
(i1)
4. ()
(i)
5. (i)
(i1)
6. (i)
(i1)
7. ()
(i)
8. (i)
(i1)

(2 of2)
ity ferers foree 0t 3fera Serer gro awesd |

Explain circular linked list with suitable example.

e (Rreft) foiers fore & ar=a 1 uss e Sired & foru weriifien fafgu |

Write an algorithm to add a node at the end of singly linked list.

V& H POP TR *! GHemsy |
Explain POP operation of the stack.

WF U U IGT9 H! Are & fore venien fafgd |

Write an algorithm to push an element in the stack.

9 (A + B)/(C — D) % Irzfthad €9 o sga) |

Convert the expression (A + B)/(C — D) into postfix form.

RIS R F1 R 7 Fnged |

What is priority queue ? Explain.

T 8 3 it ) ferfa |

Write the properties of binary tree.

4 A H FETE |

Explain the applications of tree.

7 1 ot aaa =1 Sited % fau venfen fafad |

Write an algorithm to insert an element in queue.

W o ferrarg ot 1 3981 g o % Weld 1 gesd |

Explain the representation of queue using array and linked list.

ol A F R ? T8 hE HH A B ?

What is merge sort ? How does it work ?

TEg T 6 gor  9rg g o e e R 7

What are the advantages of binary search over a linear search ?
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